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A1  
A = {2, 3, 5, 7, 11} 
B = {3, 5, 7, 9} 
 

List A ∪ B 

A2  
A = {factors of 100} 
B = {multiples of 5} 
 

List A ∩ B 

A3  
A = {c, h, i, n, a} 
B = {i, t, a, l, y} 
 

List A ∪ B 

A4  
A = {s, u, p, e, r} 
B = {c, o, m, p, u, t, e, r} 
 

List A ∩ B 

B1  
A = {1, 3, 6, 10, 15} 
B = {3, 6, 9, 12} 
 

Find n(A ∪ B) 

B2  
S = {s, q, u, a, r, e} 
V = {a, e, i, o, u} 
 

Find n(S ∩ V) 

B3  
ℰ = {1, 2, 3, 4, 5, 6, 7, 8} 
A = {2, 3, 5} 
 

Find n(A') 

B4  
M = {2, 4, 6, 8, 10} 
N = {1, 3, 5, 7, 9} 
 

Find n(M ∩ N) 

C1  
A = {2, 4, 6, 8, 10} 
B = {1, 3, 5, 7, 9} 
 

Explain why A ∩ B = ∅ 

C2  
A = {multiples of 5} 
D = {prime numbers} 
 

Is it true that A ∩ D = ∅ ? 

C3  
ℰ = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} 
A = {even numbers} 
B = {multiples of 3} 
 x ∈B   and    x ∉ A 
What are the possible values of x? 

C4  
ℰ = {1, 2, 3, 4, 5, 6, 7, 8, 9} 
A = {1, 3, 5, 7} 
B = {2, 4, 6, 8} 
 x ∈ℰ   and    x ∉ A ∪ B 
What is the value of x? 

D1  
ℰ = {even numbers} 
A = {2, 4, 6, 8, 10} 
 B is such that A ∩ B = {4, 8} 

and n(B) = 3. 
List a possible set B. 

D2  
ℰ = {1, 2, 3, 4, 5, 6, 7} 
A = {2, 3, 4, 5} 
 C is such that A ∩ C = {4, 5} 

and n(C) = 4. 
List a possible set C. 

D3  
ℰ = {2, 4, 6, 8, 10, 12, 14} 
A = {2, 6, 8, 12} 
 C is such that A ∩ C = ∅  

and n(C) = 3. 
List set C. 

D4  
A = {3, 4, 5} 
A ∪ B = {1, 2, 3, 4, 5} 
 
B has as few members as possible. 
List set B. 

 




